


f(x) = cos(x3+4x2+5)

f(x) = c, c f (x) = 0.

f(x) = xn, n ∈ R f (x) = nxn−1;

f(x) = senx f (x) = cosx ;

f(x) = senx f (x) = cosx

f(x)

f (x) < 0.

f(x) = cosx f (x) = −senx ;



f(x) = sen(x) f ′(x) = cos(x)

f(x) = ax, a ∈ R, 1 �= a > 0, f (x) = axlna.
f(x) = ex f (x) = exlne = ex;

f(x) = loga x, f (x) =
1

xlna
. f(x) = lna

f (x) =
1
x

.

f(x) = 3, g(x) = x9, h(x) = 9x.

f (x) = 0, f g (x) =
9x9−1 = 9x8 h (x) = 9x .ln9 .

f(x) = cosx x0 =
π

3
.

f (x) = −senx ;

f (
π

3
) = −sen(

π

3
) =

−√
3

2
.

f(x) = 3
√

x.



f(x) = cos(x) f ′(x) = −sen(x)

f(x) f(x) = x
1
3 ;

f (x) =
1
3
x

1
3
−1 =

1
3
x

−2
3 =

1

3x
2
3

=
1

3 3
√

x2
.

(f + g) (x) = f (x) + g (x);

(f − g) (x) = f (x) − g (x);



(f .g) (x) = f (x).g(x) + f(x).g (x);

f(x) g(x)

(
f

g
) (x) =

f (x).g(x) + f(x).g (x)
g(x)2

.

f(x) = x3 + 4x2 + 5.

f (x) = (x3) + (4x2 + 5) = (x3) + (4x2) + (5) .

(5) = 0, (x3) = 3x2. (4x2)
(4x2) = (4) x2 + 4(x2) = 0.x2 + 4.2x = 8x . f (x) = 3x2 + 8x.

f(x) f (x).
f(x) f (x).

f(x) = a0 + a1x + a2x
2 + ... + anxn, an �= 0

f (x) = a1 + 2a2x + ... + nanxn−1.

f (x) f(x) = x4 + 3x2 + 1.

(c.f (x)) = c.f (x), c

f(x) = 3cosx + x3.

f (x) = (3cosx ) + (x3)

f (x) = 3(cosx ) + (x3)

f (x) = −3senx + 3x2.

f(x) = 2senx +
√

x.



f(x) = x3 + 4x2 + 5 f ′(x) = 3x2 + 8x

f(x) =
x2.cosx
1 + senx

.

f (x) =
(x2.cosx ) (1 + senx ) + x2.cosx (1 + senx )

(1 + senx )2
.

f (x) =
(2x .cosx − x2.senx).(1 + senx ) + x2. cos2 x

(1 + senx )2
.

F (x) = (x3 + 1)100.



(x3 + 1)100

(x3 +1)100 x3 +1

f g F = f ◦ g

F (x) = f(g(x)),

F
F (x) = f (g(x)).g (x).

F (x) F (x) = (x3 + 1)100.

F (x) = f(g(x)), g(x) = x3 + 1 f(u) = u100;

F (x) = f (g(x)).g (x) = 100.g(x)99.3x2 = 300x2(x3 + 1)99,

f (u) = 100u99 g (x) = 3x2.

F (x) = sen(x2) G(x) = (senx )2.

g(x) = x2 f(u) = senu

F (x) = f(g(x)).

F (x) = f (g(x)).g (x)

g (x) = 2x f (u) = cos u,

F (x) = cos(x2).2x = 2xcos(x2).

G (x),

G(x) = g(f(x))

G (x) = g (f(x)).f (x) = 2f (x).cosx = 2senxcosx .

F (x) = esenx .

f(x) = senx g(u) = eu

F (x) = g(f(x))



F (x) = g (f(x)).f (x).

f (x) = cos x g (u) = eu

F (x) = esenx .cosx .

f(x) = xn, n ∈ R f (x) = nxn−1;

f(x) = senx f (x) = cosx ;

f(x) = cosx f (x) = −senx ;

f(x) = ax, a ∈ R, 1 �= a > 0, f (x) = axlna.
f(x) = ex f (x) = exlne = ex;

f(x) = loga x, f (x) =
1

xlna
. f(x) = lna

f (x) =
1
x

.

f(x) g(x)



(
f

g
) (x) =

f (x).g(x) + f(x).g (x)
g(x)2

.

f(x) = a0 + a1x + a2x
2 + ... + anxn, an �= 0

f (x) = a1 + 2a2x + ... + nanxn−1.

(c.f (x)) = c.f (x), c

f g F = f ◦g
F (x) = f(g(x)), F

F (x) = f (g(x)).g (x).

f(x) = x3; g(x) = πx h(x) =
√

x.

f(x) = senx x0 = π.

F (x) = cos(ex).

F (x) F (x) = cos(10 + x3).




